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Unit1 Listening

Monday 19 May 2014 9.00am to 9.45am
approximately (including reading time)

You will need no other materials.

Time allowed
¢ 40 minutes approximately + 5 minutes reading time before the test

e The pauses are pre-recorded for this test.

Instructions

e Use black ink or black ball-point pen.

o Fill in the boxes at the top of this page.

e Do not open this book until you are told to do so.

This is what you should do for each item.

o After the question number is announced, there will be a pause to allow

you to read the instructions and questions.

Listen carefully to the recording and read the questions again.

Listen to the recording again, and then answer the questions.

When the next question is about to start you will hear a bleep like this (*).

You may write at any time during the test.

Answer all questions in English.

You must answer the questions in the spaces provided. Do not write

outside the box around each page or on blank pages.

Write neatly and put down all the information you are asked to give.

e Ask any questions now. You must not ask questions or interrupt
during the test.

e You now have five minutes to read through the question paper. You may
make notes during this time. You may open your answer book now.

e The test starts now.

Information

e The marks for questions are shown in brackets.
e The maximum mark for this paper is 40.

e You must not use a dictionary.
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2 Do not write
outside the
box

Answer all questions in English in the spaces provided.

1 Environment

Angela is talking about a problem and its solution.

Example What is the problem?

Answer: C

1 What is the solution?

A | Recycle more

B Produce less

C | Buyless

Write the correct letter in the box. [1 mark]
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Do not write

3 outside the
box
2 Fashion
Ronja is talking about her boyfriend, Rolf.
Example What does she like to wear?
.................................................. CAPTINGS . oeeeeoeeceeesssessssessnssssesssssssesssss s
Why is she surprised when Rolf wears an earring?
[1 mark]
Turn over for the next question
2
Turn over »
L



3 (i)

3 (ii)

School

Melanie and Stefan are talking about a test at school.

Which is correct?

Stefan says that he is ...

A | not good at any science.

B not good at any subject.

C | good at physics.

Write the correct letter in the box.

Melanie replies that ...

A | she has the same problem.

B there is still time to learn.

C | he should ask the teacher for help.

Write the correct letter in the box.

[1 mark]

[1 mark]
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5 Do not write
outside the
box

4 A family visit
Tina and Manfred are talking about Manfred’s brother, Thomas.

Which two statements are true?

A | Thomas does not have a job.

B | Thomas looks after his family well.

C Thomas finds Tina attractive.

D | Tina finds Thomas interesting.

Write the correct letters in the boxes.

[2 marks]

Turn over for the next question

Turn over »
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5 Free time

Three people are talking about their hobbies.

What do they think about what they do?

If their opinion is positive, write P.

If it is negative, write N.

If it is positive and negative, write P+N.
5 (@) Erol [1 mark]
5 (b) Verena [1 mark]
5 (c) Frank [1 mark]

I
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outside the
box

6 Relationships

Verena is having second thoughts about marrying her boyfriend, Jochen.

What does she say?

A | “l don't like Jochen being so jealous.”

B | “I just want him to be more friendly.”

C | “l can’t stand his new friends.”

D | “I'd really prefer to go out with someone else.”

Write the correct letters in the boxes.

[2 marks]

Turn over for the next question

Turn over »
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7 (i)

7 (i)

7 (iii)

Jobs
Linda is talking about what job she would like.
What does she say?

Write the correct letter in each box.

A | She does not want to be an engineer.

B Engineers do not earn much.

C | Engineers can see the results of their work.

A She does not want to be a doctor.

B She could work abroad.

C | Studying medicine will take a long time.

A She does not want to be an actor.

B To be famous is a nice dream.

C | Acting is a difficult profession.

[1 mark]

[1 mark]

[1 mark]
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9 Do not write
outside the
box

8 Transport

Florian is talking about where he lives.

8 (i) What would he like to see more of?

A TTTTT T ks Jaas

Write the correct letter in the box. [1 mark]

8 (ii) Why does he think this?

A | Itis good for the environment.

B His friends like travelling this way.

C | The roads are too dangerous.

Write the correct letter in the box. [1 mark]

Turn over for the next question

Turn over »
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9 Local area
Markus is talking about what he likes and dislikes about where he lives.
A B C D
9 (i) What does he like?
Write the correct letter in the box. [1 mark]
9 (ii) What does he not like?
Write the correct letter in the box. [1 mark]
L
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11

10 Future plans

Three people are talking about their future.

If they are positive about their future, write P.

If they are negative, write N.

If they are positive and negative, write P+N.

Write the correct letter in each box.
10 (a) Johannes [1 mark]
10 (b) Gabi [1 mark]
10 (c) Matthias [1 mark]

Turn over for the next question
Turn over »
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11

11 (i)

11 (ii)

11 (iii)

Holidays

A radio report and interviews about holiday problems

What is the problem?

A The aircraft has broken down.

B | All flights have been cancelled.

C | Allflights are late.

Write the correct letter in the box.

What is the female passenger’s view?

A | She is hopeful.

B | She is pessimistic.

C She does not care.

Write the correct letter in the box.

What does the male passenger say?

A He has sent a text to his wife.

B He has received a text from the airline.

C | He is waiting for a text from the airline.

Write the correct letter in the box.

[1 mark]

[1 mark]

[1 mark]
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12 Job interviews

Three people are talking about their experiences at a job interview.

If they feel positive about their experience, write P.
If they feel negative, write N.

If they feel positive and negative, write P+N.

Write the correct letter in each box.

12 (a) Hanna [1 mark]
12 (b) Lukas [1 mark]
12 (c) Elisabeth [1 mark]

Turn over for the next question

Turn over »

13

H/Jun14/46651H



14

13

13 (i)

13 (ii)

13 (iii)

Mobile phones in school

Irina’s teacher, Herr Wulff, is talking to Frau Meyer, Irina’s mother.

Herr Wulff's problem is that Irina ...

A | has stolen a mobile phone.

B keeps talking on her mobile in class.

C looks for test answers on the internet.

Write the correct letter in the box.

Frau Meyer says that ...

A | she will punish Irina.

B Irina would not do that.

C she had to call Irina at that time.

Write the correct letter in the box.

Herr Wulff asks Frau Meyer to ...

A | phone the office next time.

B wait until school has finished.

C | leave a message on Irina’s voicemail.

Write the correct letter in the box.

[1 mark]

[1 mark]

[1 mark]
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Tourism
Michael is a tourist.

What is the problem?

A | There are too many sights to see.

B There is not much to see or do at the moment.

C | Itis winter and so everything is closed.

Write the correct letter in the box.

Turn over for the next question

[1 mark]

15
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Do not write

16 outside the
box
15 Relationships
Peter is adopted.

15 (i) What is the reaction of most other people when he tells them this?

[1 mark]
15 (ii) Why does Peter disagree with their reaction?

[1 mark]
L
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16

16 (i)

16 (ii)

Moving house

Anna’s family has moved house.

What exactly have they done?

A Moved in with relatives

B Invited the relatives to rent from them

C | Bought their first house

Write the correct letter in the box.

Annais ...

A envious.

B | poor.

C | proud.

Write the correct letter in the box.

Turn over for the next question

[1 mark]

[1 mark]

17
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box
17 Healthy eating
Three people are talking about food.
17 (a) What does Sebastian think are the advantages of the food he eats?
Give one reason.
[1 mark]
17 (b) When does Karin not follow her doctor’s advice?
[1 mark]
17 (c) Why has Ingo’s attitude to food changed?
[1 mark]
M
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18

Holidays
Jenny is on holiday and is telephoning her sister, Natascha.

Compare Jenny’s situation with Natascha’s.

Turn over for the next question

19
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20

outside the
box
19 Relationships
Christian is talking to Sonja about a family problem.
What is the problem?
A | He does not get on with his mother.
B He wants his own apartment.
C | He does not get on with his stepfather’'s daughter.
Write the correct letter in the box. [1 mark]
END OF QUESTIONS
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